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Evaluate .[0 i dx =
+4X
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The slope of the tangent line to the curve f(X) :x+ﬂ at the point (—4,-5)
X

is
The area of the region enclosed by x=y* and y=X-2 is

Let f(xy)=3xe".Then f (1In2)=

The directional derivative of f(x,y,z)=x*y—yz’+z at the point (1,-2,0) in
the direction of the vector (2,1,-2) is

If y?+y?+5y—x?-1999 =0, then %z
X
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A winch at the top of a 12-meter building pulls a pipe of the same length to a vertical
position, as shown in the figure. The winch pulls in rope at a rate of —0.2 meter per
second. Find the rate of vertical change and the rate of horizontal change at the end

of the pipe when y =6 meters.
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2. Find the general solution of the differential equation ylnx—xy' =0.

3. Find the volume of the solid generated by revolving the plane region bounded by the
graphs of y=x%, y=8,and x=0 about the Y -axis.



